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1/31 - Equations of lines through a point and perpendicular
to another line

1. Find m, from equation || "roue™ (-2,-1), perp. toy L @
2. Write formula Mm; =—3 -m
3. Substitute x, y and m % Moo
4. Solve for b —( =3 -2+0b
5. Substitute m; and b (= G6+b
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. Find m, from equation through; (4, O), perp. to y = 4x + 3

. Write formula /
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. Substitute x, y and m |

. Solve for b (0-_—-‘m54| ‘

. Substitute m, and b '
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. Find m, from equation through: (5 > 1): perp. to y=—x+ 5

. Write formula

. Substitute x, y and m |

. Solve for b 5_:____ L S ‘:

. Substitute m, and b




. Find m, from equation thI'Ol.lghI (_5, 2)’ perp. to y = ;x |

. Write formula

. Substitute x, y and m rnm = = ..’57_
. Solve for b
. Substitute m, and b (3.: vy S b
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. Find m, from equation

. Write formula

. Substitute x, y and m |
. Solve for b
. Substitute m, and b







